B300-H300~ 500 & X (5£ 7K &R)
B300-H300~ 5001 X (52K &) [HE/KEF]

410
99 300 95
110
188 (KR B4 HEKA
(S5 8) o (B {A)
N 2k
S o ~
""""" =) o
AN
| T -
BEILZI
S ofF— 1:3
| |
(@)
N\ EBRE
60 390 ‘ 60
510
ST) BEAREE. ERCEOSESRT 3,

BErEH @175 A& FBX-CS(B300EHHAEZE! - £/KER)
S=1:10

B300-H600~ 800 & X (5£7KER)
B300-H600~ 8008 E X (527K &R) [HEKTEA]

B300-H900~ 1200 mE X (527K &B)
B300-H900~ 1200k E & (527K &F) [HBE/KIER]

410 430
55 300 55 65 300 65
110 10 110 10
1388 [HEK Y BIAHEKE ( 88 [HEK ] BIAHEKEL

(&) . (S {A) (% ) C ()

v 2 S

_________ ; ";!:%ﬁ;/y 2 P )‘ :%;/;‘J

AN
=| T -
N
=| T -
BE LA )L
8 o-— 1 . 3
> | I \ |
(e}
\ EWRA BEILZIL
60 410 ‘ 60 SE= F hes
530 S | '
) HmAREE. ERECEONESRT S, EREE
60 ‘ 432 ‘ 60
552

F) BRAEREE, ERICEOBZSRT S,

STIESR STIEESR STIER

2 H | H | H2 |BE (ke 2 H | H | H2 |BE (ke 2 H | H | H2 |&E ke

5 A ERE-30 x 30 (B27KER) | 300 | 455 | 517 | 494 B A EE-30 x 60 (B27KER) | 600 | 765 | 827 | 718 B hRAEE-30x 90 (BE/KER) | 900 | 1065 | 1127 | 1012
B A ERE-30 x 40 (B27KER) | 400 | 555 | 617 | 548 B A EE-30 x 70 (B27KER) | 700 | 865 | 927 | 772 B A EE-30 x 100 (B27KER) | 1000 | 1165 | 1227 | 1076
B A ER 30 x 50 (Z27KEF) | 500 | 655 | 717 | 602 B A ERE-30 x 80 (B27KER) | 800 | 965 | 1027 | 826 B A EE-30 x 110 (B27KEB) | 1100 | 1265 | 1327 | 1140
B A EE-30 x 120 (27K EB) | 1200 | 1365 | 1427 | 1204
MEF (10mY) M e (10m Y) ME R (10m% Y)
i Al O B | HE i Al O B | B2 i Al O B | M2

M EETSMAEE | B300-H300~500 (E£/KER) | & | 5.0 HEETSAEE| B300-H600~800 (££/KER) | A& | 5.0 HéEE TS MAEE | B300-HI00~1200 (E£/KEF) | & | 5.0
HEJLAI 1.3 m® | 0.078 HELFIL 1.3 me® | 0. 082 HEJLFIL 1.3 me | 0. 086
ERRA RC-40 m? | 5.10 ERRA RC-40 m? | 5.30 ERRA RC-40 m? | 5.52

B300%! & X (LK &)
S
of S [ & = 1§ ]
< CEELTHEBEICEFLTRET 2D ET S,
= 3558328358535 ey e yex ey for o o o - HEEKIER, BESH BRIDVLOXR) HOEER~ 1mET B,
© AEAEER . K. MEORBOHEASHEICEYBRELRHKENERET DL,
500 000 500 CHEOKMSEDBAE. BB S EEREHRKEHKT 2=O0RHFHKILESRTE L,
BSRDESIE. BIEICHEO—AEEREE L., BEE+OLTEKNELSHD
2000 KRS (EKTLRRLD) I2&BEEET S,
XTI TAVIZIE. TRYEHEE HITF S =085,
im R 1:10 B f{t 2024.5. 1
aig | EEaVY ) — FIEKRSA




BEsE@ETHAAE FBX-CS (B300EHAAEE! - £/KHR)

B300-H300  (494kg)
410
55/ 300 |55
110
188
S ~
2 S =
= L J HELZIL
o ,' \| 1:3
= (27 TN R
60 I 390 I 60
510
MExR (10mH Y)
£ R ]O® B | #2
BEEETamEE| B300-H300 | & | 5.0
HEILZIL 1:3 m? |0.078
ERRA RC-40 m? | 5.10
B300-H700  (772kg)
410
55/ 300 |55
110
| 88
8_ ~
28 =
BEILAIL
o 8 ,l \| 1 . 3
= il TN wmRE
60 | 410 | 60
530
#MFLER (10m 1))
£ i ] O% B | 2
BEEATHARAE| B300-H700 VN 5.0
BELZIL 1.3 m° | 0.082
ERRE RC-40 m? | 5.30
B300-H1100 (1140kg)
430
65 300 _ |65
100 | 110_] |10
| 88
S =
2 S S
. BEILAIL
S - td
= il ERREA
60 | 432 | 60
552
#MFIER (10m 1))
£ i ] O® B | 2
BEEETEmRAE| B300-H1100 | & | 5.0
BELZIL 1.3 m° | 0.086
ERRE RC-40 m? | 5.52

$=1:20
B300-H500 (602kg)
410
55| 300 |55
110
|88
S ~
88 =
k J BHEILAIL
= ,' \| 1:3
= il ERRE
60 | 390 | 60
510
MFFR (10m 1))
£ g B OB B | #12
BEEBTHAME B300-H500 . 5.0
BHEJLAI 1:3 m? |0.078
HEBPRA RC-40 m? | 5.10
B300-H900  (1012kg)
430
65 300 _ |65
10 110_| [10
1 88
S ~
o R
3 =
L J BEJLAI
QS ,' \| 1:3
= i EBRRE
60 | 432 60
552
MEFR (10m 1))
£ g RO B | #1=
BEERTHAME B300-H900 V. 5.0
BEILAIL 1:3 m?® | 0.086
HEBpA RC-40 m? | 5.52

B300-H400 (548kg)
410
55| 300 |55
110
| 88
[ 2%‘
E n \ /LJE%;?) 2
L]
| o ~
88 5
BHEJLAI
8 8 ,I || 1 . 3
= il TN R
60 390 I 60
510
M T (10mH Y)
£ i WO B | %=
BEEB{THAME| B300-H400 V. 5.0
HEILZIL 1:3 m? |0.078
ERRA RC-40 m2 | 5.10
B300-H800  (826kg)
410
55| 300 |55
110
| 88
[ |
o— U B =
0 AR
L]
28 S
BEJLAI
o _— 1:3
= el ERRE
60 410 | 60
530
MExE (10m 1))
£ i RO B | #1E
BEER{THAME| B300-H800 V. 5.0
BELZIL 1:3 m? | 0. 082
ERRE RC-40 mz | 5.30
B300-H1200 (1204kg)
430
65, 300 _ |65
10l | 110 [10
88
Sr— ~
L—J HELSZIL
S _— 1:3
= (77 TN R
60 | 432 | 60
552
M T (10m 1))
£ i WO B | #1E
BEERTEAAE| B300-H1200 | & | 5.0
HEILZIL 1:3 m? |0.086
ERRE RC-40 m2 | 5.52

B300-H600  (718kg)
410
55| 300 |55
110
| 88
8_ ~
2 8 S
BHEJLAI
ol o ,l \‘ 1:3
= il TN R
60 | 410 | 60
530
#MFFR (10m 1))
£ i RO B | #2
BEERETEARE| B300-H600 A | 50
HEILZIL 1:3 m? |0.082
HBRA RC-40 m2 | 5.30
B300-H1000 (1076kg)
430
65 300 65
10/ | 110
1 88
= i =
ﬁ In 2
ol =3 ~
© 38 B\
) BEILAIL
S ,' \| 1:3
= (77 ERRE
60 | 432 60
552
MExR (10m4 1))
£ i RO B | 82
BEEATeAAE| B300-H1000 | A | 5.0
HEILZIL 1:3 m? |0.086
HEBpAR RC-40 m2 | 5.52

BEnE@THAAIE FBX-CS

A (B300ES FI WERE! - SEKER)
wm R | 1:20 B ff | 2024.51
aig | EEaVY ) — FIEKRSA




	シートとビュー
	モデル

	シートとビュー
	モデル


